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Question Number : 1 Question Id : 2752288285 Question Type : MCQ Option Shufflin

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the letter-cluster series given below:

CHIK, JOPR, EJKM, LQKP, GLMO

Options :

1. ¥ JOPR

2. % EJKM
3. ¥ LQKP
4. * GLMO

g : Yes Is Question Mandatory : No Option



Question Number : 1 Question Id : 2752288285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e &1 73 31eR-IHE Y H TAd UG A1d HIIS:

CHIK, JOPR, EJKM, LQKP, GLMO
Options :

1. % JOPR

2. % EJKM

3. ¥ LQKP

4. % GLMO

Question Number : 2 Question Id : 2752288286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternative words, select the word which cannot be formed using the letters of the given word.

COMPREHENSION
Options :

1. ¥ COMPRISE

2. % PENSION

3. % ONION

4. ¥ PREACH

Question Number : 2 Question Id : 2752288286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad faswedl O 9§ 98 Wsg T S faT 17U Seq o 31&RT BT WA b gl ST ST GebedT|

COMPREHENSION
Options :

1. % COMPRISE

2. % PENSION




3. ¥ ONION
4. ¥ PREACH

Question Number : 3 Question Id : 2752288287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd one out.

Options :

1. % Repair

2. % Trouble

3. % Mend

4. # Rectify

Question Number : 3 Question Id : 2752288287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ELERIGERY

Options :

1. * HHd

2. ¢ QHlEd

3. % JUR

4. % TRMEYF

Question Number : 4 Question Id : 2752288288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following questions, select the related alphabets from the given alternatives:

KED : NHG :: HLB : ?
Options :
1. # JOF
2. % KPD



3. ¥ KOE
4. = JOD

Question Number : 4 Question Id : 2752288288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad uyt o, faw T fawedt & & et siert o1 9a+ &<
KED : NHG :: HLB : ?

Options :

1. ® JOF

2. % KPD

3. ¥ KOE

4. % JOD

Question Number : 5 Question Id : 2752288289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question select the related word from the given alternatives.

Teacher : School :: Doctor : ?
Options :

1. * Nurse

2. ¥ Hospital

3. * Chemist

4. % Medicine

Question Number : 5 Question Id : 2752288289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1% g
2. % Al
3. % WY
4. % qdl

Question Number : 6 Question Id : 2752288290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If PRIVATE is coded as 1234567 and RISK is coded as 2398, how is RIVETS coded?
Options :

1. * 232679

2. % 234579

3. ¥ 234769

4. = 234976

Question Number : 6 Question Id : 2752288290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe PRIVATE &1 1234567 & U H liSd [l ST § MR RISK BT 2398 & U A ifSd fhd1 ST 8, df RIVETS &1 54 Sifsd fear
ST 82

Options :

1. ® 232679

2. % 234579

3. ¢ 234769

4. ® 234976

Question Number : 7 Question Id : 2752288291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If NOT = 7; LAC = 4; then, NIB = ?
Options :



1. % 2
2.%9
3.¢¥°5
4. % 6

Question Number : 7 Question Id : 2752288291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IfE NOT =7; LAC=4%; AINIB =?
Options :

1. %2

2.%9

3.5

4. % 6

Question Number : 8 Question Id : 2752288292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the rank of Nikhil is 31st from the bottom and 12th from the top, then what will be the rank of Sushil from the bottom if his rank from the top
is 26th.

Options :
1. #® 15th
2. % 16th
3. ¥ 17th
4. % 18th

Question Number : 8 Question Id : 2752288292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ofe AT FI¥e TR 31 f R T F 12 dF B, A -2 T IR &1 ¥ o g, I og 1 © bt =i & STpt ¥ 26 A 82

Options :

1. % 159]



2. % 16dl
3.+ 1791
4. % 189(

Question Number : 9 Question Id : 2752288293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is mother of B where C and D are daughters of E.B is wife of E, how is A related to C and D?
Options :

1. # Mother

2. # Sister

3. % Grandmother

4. % Aunty

Question Number : 9 Question Id : 2752288293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, BT 8, 81 C 3R D, E $1 9feal §1 B, E DI Uall &, A A, C 3R D I HY Jaifdd g2
Options :

1. # HIdl

2. % dgd

3. ¢ &AM

4. % 3fidl

Question Number : 10 Question Id : 2752288294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shanu is taller than Anil. Raghu is taller than Chandra but shorter than Brinda. Shanu is shorter than Chandra. Who is the tallest?
Options :

1. ¥ Shanu

2. # Chandra



3. % Raghu
4. % Bindra

Question Number : 10 Question Id : 2752288294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M, S1fAa &1 ga1 & T § | XY, IS B! ga-1 & Al § TR folaT § Blel § | M, I &t o1 J Biel ¢ | Ty Tl S 82
Options :

1. % R

2. % gl

3. %Y

4. feiar

Question Number : 11 Question Id : 2752288295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below are given few statements followed by few conclusions. You have to take the given statements to be true even if they seem
to be at variance with the commonly known facts and then decide which of the given conclusions logically follows from the given statements,
disregarding commonly known facts.

Statements:
All windows are houses.
All houses are chairs.

Conclusions:

I. Some windows are chairs.
II. Some chairs are windows.
III. All chairs are windows.

Options :

1. % All follow

2. % None follows

3. % Only II follows

4. % Only I and II follow



Question Number : 11 Question Id : 2752288295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 12 Question Id : 2752288296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below are given few statements followed by few conclusions. You have to take the given statements to be true even if they seem
to be at variance with the commonly known facts and then decide which of the given conclusions logically follows from the given statements,
disregarding commonly known facts.

Statements

No stick is door.

All doors are pens.
Some pens are houses.

Conclusions:



I. No stick is house.
II. Some pens are doors.

Options :

1. % Only Conclusion I follows

2. % Only Conclusion II follows

3. # Either Conclusion I or II follows

4. % Neither Conclusion I nor II follows

Question Number : 12 Question Id : 2752288296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 13 Question Id : 2752288297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related figures from the given alternatives.



7823 : 101 :: 4512 :?
Options :

1. % 35

2. % 48

3.¥ 57

4. % 69

Question Number : 13 Question Id : 2752288297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead vy #, fau U fasedl & 9 Heiferd el o1 7 Y|
7823 : 101 :: 4512 : 7

Options :

1. % 35

2. % 48

3. ¥ 57

4. % 69

Question Number : 14 Question Id : 2752288298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRad U |, 2 G &1 U9 H Seadb THIBRUT Bl Tal B |

16+3+4-15x5=2
Options :

1. % - %

2. % -+
3.9 x +

4. % x =



Question Number : 14 Question Id : 2752288298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, correct the equations by interchanging the 2 signs

16+3+4-15x5=2
Options :
1. #® - x
2. % -+
3.9 x +

4. % x =

Question Number : 15 Question Id : 2752288299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the series:

10, 5,5,7.5,15,37.5,?
Options :
1. ® 110.5
2. % 111.5
3.¥ 1125
4. % 1145

Question Number : 15 Question Id : 2752288299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el g e

10, 5, 5,7.5,15,37.5,?

Options :

1. ® 110.5

2. % 111.5



3.¥ 1125
4. % 114.5

Question Number : 16 Question Id : 2752288300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagram represents the correct relationship between Cricketers, Player and Human beings?
Options :

©Q® 6

Question Number : 16 Question Id : 2752288300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafefad o @ ®F 91 3R fvdrer, fAaTS) iR s & ofw 8! Ty ) gxifan 82

Options :



1. ¥

2. 8

©Q®e

Question Number : 17 Question Id : 2752288301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following figure series.

O

Options :

@)




3. ¢

Question Number : 17 Question Id : 2752288301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




Question Number : 18 Question Id : 2752288302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many rectangles are there in the following figure?

B C D
Il J

A E
H G F

Options :

1. %7

2.% 6

3.% 8

4. ¥ 9

Question Number : 18 Question Id : 2752288302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fog amepfar & Smadl o) Tve fora 82



D

I|J

A E
HG &

Options :

1. % 7

2. % 6

3.% 8

4.¥9

Question Number : 19 Question Id : 2752288303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A piece of paper is folded and cut as shown below. How will it appear when unfolded?

Options :

S Pyt

b Dhe uf
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] e

3 s
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o .f?’ﬂ\i .‘”/ﬁ\’
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Question Number : 19 Question Id : 2752288303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

el Pyl
2e¢
s oyd 2y
1 ® yi¢ vh¢

Sy Byl
Bl By

h
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-y
3 36
3 & :?'&ﬁ .'.‘?":"‘i

% 3.5 3]
% 3.5 3]

4.

Question Number : 20 Question Id : 2752288304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure which is embedded in the given figure.




3.¢

Question Number : 20 Question Id : 2752288304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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L,

Options :

Q

X




3.¢
4, %
General Awareness
Group Number : 2
Group Id : 275228326
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness
Section Id : 275228453
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 275228540
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752288305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nishagandhi Nritya Utsav is celebrated in which of the following States?
Options :

1. # Uttar Pradesh

2. # Himachal Pradesh

3. ¥ Kerala

4. % Manipur

Question Number : 21 Question Id : 2752288305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % WU

2. % feTEd U=

3. B

4. % HOQR

Question Number : 22 Question Id : 2752288306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Damaram is a percussion instrument made of iron. It is temple instrument used in which of the following States?
Options :

1. # Bihar

2. % Jharkhand



3. % Tamil Nadu
4. % Maharashtra

Question Number : 22 Question Id : 2752288306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fogR

2. % PRI

3. ¢ AAg

4. % HERTY

Question Number : 23 Question Id : 2752288307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Salimgarh fort was built by who among the following?
Options :

1. # Sher Shah Suri

2. % Salim Shah Suri

3. ¥ Mohammed Salim

4. % Aurangzeb

Question Number : 23 Question Id : 2752288307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IR A

2. ¢ | Q8 G

3. % HigHE Iaid




4. % 3OS

Question Number : 24 Question Id : 2752288308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an activity classified into Primary Sector?
Options :

1. # Forestry

2. % Animal husbandry

3. % Manufacturing

4. # Fishing

Question Number : 24 Question Id : 2752288308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofafea & 3 @ mufte & & aifed nfafafr 7€t g2
Options :

1. % qrfepl

2. % URUTcid

3. ¢ fafamfor

4, % Y Ulcid

Question Number : 25 Question Id : 2752288309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The distribution of foodgrains in the deficit areas and among the poorer strata of the society at a price lower than the market price also known as:
Options :

1. ¥ Issue Price

2. % Packaging Price

3. ¥ Maximum Retail Price

4. % Government Price



Question Number : 25 Question Id : 2752288309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HUI I &3 T SR THS & TRIF Gt 8 SR 1A A HH DA IR ST & [aavor & g foear SI1aT 8, 59 $1Ad &I Hd o-
Options :

1. ¢ g

2. % QbR e

3. % 3UHdd a3l G

4, % ORI GA

Question Number : 26 Question Id : 2752288310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an example of scattering of light?
Options :

1. # Reddening of the sun at sunrise & sunset

2. # The color of the sky looks blue

3. % Tyndall effect

4. % Formation of Rainbow

Question Number : 26 Question Id : 2752288310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % yuiey R qaia & 99a g &1 ard g

2. % 3B HI AT el fG@dr g

3. % CIgSd UHIg

4. ¥ SZUTY BT AT



Question Number : 27 Question Id : 2752288311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is prescribed to a person with Myopia for the correction of vision?
Options :

1. ¥ Concave Lens

2. % Convex Lens

3. % Concave Mirror

4. % Convex Mirror

Question Number : 27 Question Id : 2752288311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e ardt safad &1 =P § guR & fou FafeRad o 9 o1 Suin fasan ST 82
Options :

1. ¢ 3fadd g

2. % JAd A9

3. % 3gad gUur

4. % IqA U]

Question Number : 28 Question Id : 2752288312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Golden Quadrilateral Super Highways does not pass through which of the following states?
Options :

1. # Maharashtra

2. ¥ Madhya Pradesh

3. ¥ Tamil Nadu

4. ¥ West Bengal

Question Number : 28 Question Id : 2752288312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Wit s IR g5 Fafefea 3 ¥ fr IToa 3 78 eRar 82
Options :

1. * HeRIY

2. ¥ A YK

3. % g

4. ® gigH §Id

Question Number : 29 Question Id : 2752288313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

World’s longest highway tunnel, Atal Tunnel is built in which of the following mountain ranges?
Options :

1. ¥ Pir Panjal Ranges

2. % Dhauladhar Ranges

3. % Zaskar Range

4. # Aravali Range

Question Number : 29 Question Id : 2752288313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ UR USTTe 3o

2. % HIATYR IS

3. % SR

4. % SRTA! 3ol

Question Number : 30 Question Id : 2752288314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Where did Buddha give his first sermon after enlightenment?
Options :

1. # Bodh Gaya

2. % Sarnath

3. % Kushinagar

4. * Lumbini

Question Number : 30 Question Id : 2752288314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§G o AT & TG 3T Ugell SUGR Hal [T T2
Options :

1. % S

2. ¥ qRANY

3. % PR

4. % et

Question Number : 31 Question Id : 2752288315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Megasthenes visited India during the reign of-
Options :

1. % Ashoka

2. # Samudragupta

3. % Chandragupta Maurya

4. # Vikramaditya

Question Number : 31 Question Id : 2752288315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % =MD
2. % gHaW
3. ¢ A5 1
4. % fgmAc

Question Number : 32 Question Id : 2752288316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has won the prestigious National Lokmanya Tilak Award 20217
Options :

1. # Dilip Shanghvi

2. % Cyrus S. Poonawalla

3. % Uday Kotak

4. # Krishna Ella

Question Number : 32 Question Id : 2752288316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # feeftu giodt

2. ¢ I Y. YA1drel
3. % IGT BICh

4. % HOT AT

Question Number : 33 Question Id : 2752288317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who won the award for the best director at the Cannes Film Festival 2021?
Options :

1. #* Juho Kuosmanen



2. % Caleb Landry Jones
3. % Julia Ducournau

4. % Leos Carax

Question Number : 33 Question Id : 2752288317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&Y fthed BhiRead 2021 T TA9 FEI® &1 [HR e siar
Options :

1. % ! pofm

2. % BT el A

3. ¢ ferT g RAT

4. % AT HYH

Question Number : 34 Question Id : 2752288318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been appointed as the Health Minister of the India?
Options :

1. # Shri Harsh Vardhan

2. % Shri Piyush Goyal

3. % Shri Mansukh Mandaviya

4. % Shri Rajnath Singh

Question Number : 34 Question Id : 2752288318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & Wy 7l & &9 fohd fgad foear man g2
Options :

1. % o gefaeH

2. % o digy My



3. ¢ ol g derfaa
4. % ot 9y Rig

Question Number : 35 Question Id : 2752288319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Surakshit Hum Surakshit Tum Abhiyaan’ is an initiative taken by which of the following institution?
Options :

1. ® AIIMS

2. ¥ NITI Aayog

3. ¥ ICMR

4. % IMA

Question Number : 35 Question Id : 2752288319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QR 9 QR gr siftram Fafoiad o ¥ forg Tl gRT IR &1 71 T Ugd 32
Options :

1. % T

2.« Hife manT

3. % JISHITHIIR

4. % TETAY

Question Number : 36 Question Id : 2752288320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Military Exercise INDRA NAVY was recently conducted between India and which of the following Countries?
Options :

1. # Australia

2. % United Kingdom

3. % United States of America



4. ¥ Russia

Question Number : 36 Question Id : 2752288320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=g 31T Z41 74! (INDRA NAVY) BTd 8 & HRd 3R fFafafead @ ¥ foeg 3w & st smaifora fasar ma ur
Options :

1. % 3fiecfer

2. % gARCS fdhireH

3. % Yo ST SARBT

4. ¥ Y

Question Number : 37 Question Id : 2752288321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following nominates the Members to the Rajya Sabha?
Options :

1. # Prime Minister

2. # Direct Election

3. ¥ President

4. % Prime Minister with the aid of Council of Ministers

Question Number : 37 Question Id : 2752288321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol # 3 o el &I AsagHT & forg A1fid ad 82
Options :

1. % QY HAl

2. % Y& gAd

3. ¢ qyufd
4. % TRORYE o) T gL



Question Number : 38 Question Id : 2752288322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Parts of the Indian Constitution is related to the Panchayats?
Options :

1. ¥ IX

2.% X

3. % VII

4. % VIII

Question Number : 38 Question Id : 2752288322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Afdem &1 FafaRad o 9 &F 91 YF varddl 8 Jeifed g2
Options :

1. ¥ IX

2.% X

3. % VI

4. % VIII

Question Number : 39 Question Id : 2752288323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rajiv Gandhi Khel Ratna Award which was renamed as Major Dhaynchand award was introduced in which year?
Options :

1. * 1984

2. % 1988

3.9 1991

4. % 1996

Question Number : 39 Question Id : 2752288323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSN Tt W e TIBR FTHT 10 Taadh HoR STde YRIBR HR 191 741 T, {6 I8 YR fovar /m Ut
Options :

1. % 1984

2. % 1988

3.9 1991

4. % 1996

Question Number : 40 Question Id : 2752288324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following will host 2032 summer Olympic?
Options :

1. ¥ Australia

2. % USA

3. % France

4. % Canada

Question Number : 40 Question Id : 2752288324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad & 9 S 2032 THABIEH S Bt ASEH HEM?
Options :

1. ¢ Sicfer

2. % guyu

3. % Big

4. ® PpATS]

Arithmetic Ability



Group Number : 3

Group Id : 275228327
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 275228454
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228541
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 2752288325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many times digit '2' appears in numbers between 23 to 100(excluding both the numbers)?
Options :

1. # 11

2. % 12

3.413

4. % 14



Question Number : 41 Question Id : 2752288325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

23 ¥ 100 (GFI SBT3 B BISHR) b d1d Bt Temaii 7 ford=il IR 2 fexars a1 g2
Options :

1. % 11

2. % 12

3.9 13

4. % 14

Question Number : 42 Question Id : 2752288326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 S-3 99 931 Uia-sie g T=T €, Sl 64, 48 3R 80 J guld: fquiord g2
Options :

1. ¥ 99840

2. % 99940

3. % 99954

4. % 99960

Question Number : 42 Question Id : 2752288326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the greatest five-digit number which is exactly divisible by 64, 48 and 80?
Options :

1. ¥ 99840

2. % 99940

3. % 99954

4. % 99960



Question Number : 43 Question Id : 2752288327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of 3+4125—/20—/20 .
?+-‘"I'E_*\"ﬁ_‘\-'ﬁ f

Options :

1.v 2+ V5

). % 4+ Vb

3.% 3—+5

4. % 71— V5

Question Number : 43 Question Id : 2752288327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3+4/125—/80—20
J FT AT 719 A

7+4/405—/20—/20

Options :
1.« 2+ 1.,"'3

el

3. % 33—~

ol

4.% 7T—v



Question Number : 44 Question Id : 2752288328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Find the value of [83 + 212 % 123 — 145] =9y
4 3 8 4 9
Options :
oy i
25

1. ¢

24
) % P

45
3 % s

3
L% s

Question Number : 44 Question Id : 2752288328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

8§+ 21§ x12§—14§]+9§ HTHIA AT I

Options :



Question Number : 45 Question Id : 2752288329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fF S 1:2:3 & SIATd H § SR 3! HeaH JHUGd® 24 § | =M &
Options :

1. % 4,8,12

2. % 6,8,12

3.9 24,48, 72

4. % 4,12, 16

Question Number : 45 Question Id : 2752288329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three numbers are in the ratio of 1:2:3 and their H.C.F. is 24. The numbers are:
Options :

1. % 4,8,12

2. % 6,8,12

3.9 24,48, 72

4. % 4,12, 16

Question Number : 46 Question Id : 2752288330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of marks scored by 40 students was 160. Later on it was discovered that one mark 165 was wrongly copied as 125. Find the correct
average?

Options :
1. % 160
2. ¥ 161
3. % 162
4. % 163



Question Number : 46 Question Id : 2752288330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

40 BTN GRT YT BT 7T Sieht BT ST 160 UTI TG H Ul I b Th O & 165 3feb D 125 foram 711 Tt ST 1 Hifor|
Options :

1. * 160

2. ¥ 161

3. % 162

4. % 163

Question Number : 47 Question Id : 2752288331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four-third of 50 percent of 40 percent of a number is equal to five times the twice of square of four. What is the number?
Options :

1. % 450

2. % 500

3. % 550

4. % 600

Question Number : 47 Question Id : 2752288331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T WA & 40 UIIRIG & 50 TR 1 IR-{TETS, TR & G b G o Uid AT o SRIR ¢ | T o1 87
Options :

1. % 450

2. % 500

3. % 550

4. % 600

Question Number : 48 Question Id : 2752288332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Price of almonds is increased by 12 percent and consumption of almonds in a family decreased by 5 percent. What is the percentage change in
expenditure of the family?

Options :

1. # 3.2 percent
2. % 4.8 percent
3. % 5.6 percent
4. ¥ 6.4 percent

Question Number : 48 Question Id : 2752288332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST B BId | 12 U &t 3G gl § 3R Th uRaR & srem o1 Wud § 5 ufawrd &) st orclt g1 o akar & = | gai ufasrd
aRad foraT 89

Options :

1. % 3.2 gfaerd

2. % 4.8 gfa=rd

3. % 5.6 Ofdd

4. ¢ 6.4 U=

Question Number : 49 Question Id : 2752288333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of an item is Rs. 900 but a retailer purchases it on 40 percent discount and sells it on Rs. 900. The percentage profit of the
retailer is:

Options :
1. % 40%

7 # 60%



2
=i
3 ¥ 663 Yo

1
4% 685 %

Question Number : 49 Question Id : 2752288333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I $1 3ifohd Ged 900 T B, Wb Teb WGaT faohdl 4 40 UfINT Fe R Tl & 3R T 900 T H S9dT g | YT fashdl ol
TiferRTd Ty &

Options :

1. ® 40%

n ® 6%

2
o
3 @ 663 Yo

1
4% 685 %

Question Number : 50 Question Id : 2752288334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ratio of two numbers A and B is 7: 8 respectively. When 4 is subtracted from A and same quantity is added to B, then their ratio becomes 2: 3
respectively. What is the value of 'A'?

Options :
1. % 21
2.9 28
3. % 35
4. % 42



Question Number : 50 Question Id : 2752288334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& st A 3R B HT U HUR: 7:8 | Al A & F 4 U7 a1 SI1aT 8 IR J0H 1 B & g €1 oifclt 8, A 36T SIuTd Hak: 2:3 B
SIATg | A T HIH 1 82

Options :

1. ® 21

2.9 28

3. % 35

4. % 42

Question Number : 51 Question Id : 2752288335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the fourth proportional of 16, 28 and 36?
Options :

1. % 42

2. % 49

3. ¥ 63

4. %70

Question Number : 51 Question Id : 2752288335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

16, 28 31 36 & foTQ TIYT THTIYTA fard=T BT
Options :

1. % 42

2. % 49

3.9 63

4. % 70




Question Number : 52 Question Id : 2752288336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If simple interest for 4 years on a sum of Rs. 600 and the simple interest on the same amount for 2 years, together fetch Rs. 288, then find the rate
of interest per annum.

Options :

1. * 5 percent
2. % 5.5 percent
3. % 3 percent
4. ¥ 8 percent

Question Number : 52 Question Id : 2752288336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%Eéooﬁﬁw&mw&faﬂmwmﬁzaﬁ%ﬁmwv@rmwwmmﬁ?ﬁzss ¥UY gId1 g, df Ui as &1
QX I X

Options :

1. % 5 gfa=rd
2. % 5.5 gfderd
3. % 3 gfavrg
4. ¢ g Ufa=rd

Question Number : 53 Question Id : 2752288337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat travels 36 km upstream in 3 hrs and travels the same distance downstream in 9/5 hrs. What is the speed of the boat in still water (in
km/hr)?

Options :
1.¥ 16
2. % 12
3. % 20
4. % 18



Question Number : 53 Question Id : 2752288337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 19 3 °9¢ & URT & UfdGmd =M H 36 foil &1 g8 &1 am St g 3R 9/5 9 H YRT & 3% d fo= H 9HM g3l &l 99 dxall g | RR
ST H 19 1 Tfd (fobHt/eien) fabat gt

Options :

1.¥ 16

2.% 12

3.% 20

4. % 18

Question Number : 54 Question Id : 2752288338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fad 80 fll / BeT &1 T W $13d HRl &, al U Tded TR 5 ©¢ T Ugadl g | e S9! 7 # T [Mi¥d ufa=d &t 3fs gidl 6, a1 a8
50 fe Ul 3o Tidad e Ugd ST 8 | 39! i | fha= ufawrd &1 3fg g2

Options :

1. 20

2. % 10

3. % 25

4. % 15

Question Number : 54 Question Id : 2752288338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person drives with speed 80 km/hr reaches his destination in 5 hrs. If his speed is increased by a certain percentage, he reaches his destination
50 minutes earlier. By what percentage was his speed increased?

Options :
1. ¥ 20
2. %10
3. % 25



4. % 15

Question Number : 55 Question Id : 2752288339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is twice as efficient as B and thrice as efficient as C. If A, B and C together can do a work in 18 days, then find the time taken by B alone.
Options :

1. # 44 days

2. ¥ 66 days

3. % 33 days

4. % 22 days

Question Number : 55 Question Id : 2752288339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B QO H SR G& 8 3R ¢ 31 g & fT e 81 afe A, B 3IR € THETY T & I 18 o Hf Q-1 5= Wbl &, f 31l B gRT
ferm a1 qwy 31d By |
Options :

1. % 44faq
2. ¢ 66 faA
3. % 33faq
4. % nfea

Question Number : 56 Question Id : 2752288340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length, breadth and height of a cuboid are 9 cm, 6 cm and 4 cm respectively. The volume of cube is equal to the volume of given cuboid.
Find the side of the cube.

Options :
l1.¥ 6cm
2. % 3 cm

3. % 9cm



4. % 12 cm

Question Number : 56 Question Id : 2752288340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gwwﬁﬁaﬁ,aﬁaﬁﬁ?mm: o Y, 6 Tt 3R 4 Aft B 1 T BT 3T U T GATH & 3T & SRISR § U B Yol 1
|

Options :

1. ¢ 699
2. % 3gHt
3. % o gHt
4. % 123

Question Number : 57 Question Id : 2752288341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two concentric circles with radii p cm. and (p + 2) cm. are drawn on a paper. The difference between their areas is 44 sq cm. Find the value of p.
Options :

1.¥25

2.% 6

3.%5

4. % 1.5

Question Number : 57 Question Id : 2752288341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ%@aqﬁﬁﬁﬁﬁwﬁp@tﬂaﬁ?(pu)ﬁrﬂﬁwmmwm% IT! §THA! P S BT 3R 44 T TH |1 P BT HH F1d
|

Options :
1.¥25
2.% 6
3.%5



4. % 1.5

Question Number : 58 Question Id : 2752288342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following Table represents the data regarding consumption of wheat and
rice by a family during different years.

Year | Wheat (in kg) | Rice (in kg)
2003 420 270
2004 360 390
2005 220 450
2006 540 420
2007 480 290
2008 210 320

Total wheat consumption from 2004 to 2006 taken together is approximately
what percent of total rice consumption during same time period?

Options :

1. ¥ 89 percent
2. % 78 percent
3. # 85 percent
4. % 81 percent

Question Number : 58 Question Id : 2752288342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfoiRaa arfere fafire auf & SR T URaR gRT g 3R I1ad &1 Wud & IR § 3fids! o1 ufaffia #rdl 8



a¥ | A (et ) | e (Rt A)
2003 420 270
2004 360 390
2005 220 450
2006 540 420
2007 480 290
2008 210 320

TG =0 I TN 2004 F 2006 TP $ g BT G, THH AT P GRM S A1ae B GUd BT TRTHT fbeT Uic=Td g2

Options :

1. ¢ 89 Ufc=rd
2. % 78 gfard
3. % g5 gfaerd
4. % g1 yfaerd

Question Number : 59 Question Id : 2752288343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following Table represents the data regarding consumption of wheat and
rice by a family during different years.

Year | Wheat (in kg) | Rice (in kg)
2003 420 270
2004 360 390
2005 220 450
2006 540 420
2007 480 290
2008 210 320

What is the respective ratio of wheat and rice consumption in 2003 to the wheat consumption in 2007 and 2008 together?
Options :

1. # 7:6

2.9 1:1



3. % 43
4. % 11:10

Question Number : 59 Question Id : 2752288343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad arfereT fafiid auf & SR U IRaR gR1 g iR I/ad &1 Wud & aR § Sidwe! o1 ufaffa ad g

T¥ | A (FeTH) | e (et )
2003 420 270
2004 360 390
2005 220 450
2006 540 420
2007 480 290
2008 210 320

2003 T TIg 3R I1ad B WU TUT THHATY 2007 3R 2008 H g 1 WU BT Yaferd U foa 82
Options :

1. # 7:6

2.¢ 1:1

3. % 43

4. % 11:10

Question Number : 60 Question Id : 2752288344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Following bar-graph represents the data regarding number of articles written by two persons in different months.



30

March April May June

EANEB

Total number of articles written by A in March and May taken together are
approximately what percent of number of articles written by B on April and
June taken together?

Options :

1. # 87 percent
2. % 90 percent
3. ¥ 93 percent
4. #% 97 percent

Question Number : 60 Question Id : 2752288344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied SR fafte weiHl & < safaqal gRT fora e ol &1 T & ey o ofidhs g & |
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March April May June
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AT 3R 78 T T 1Y A GRT oR3 7T T3 1 Hot TR, A0 3R S H Ueb 1Y B gRT o3 7T TG b1 TReaqT o TTHAT feba) wifr=rat 82

Options :
1. % g7 ufaerd
2. % 90 Ufd=rd
3. ¢ 93 Yfd=rd
4. % 97 fd=rd

General English
Group Number : 4
Group Id : 275228328
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General English

Section Id : 275228455
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228542
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 2752288345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

Pakistan's decision to sell arms to Tajikistan was announce on Wednesday during Tajik President's visit to Islamabad.
Options :

1. * No error

2. % was announce on Wednesday during

3. * Tajik President's visit to Islamabad.

4. # Pakistan's decision to sell arms to Tajikistan

Question Number : 61 Question Id : 2752288345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

Pakistan's decision to sell arms to Tajikistan was announce on Wednesday during Tajik President's visit to Islamabad.
Options :



1. * No error
2. % was announce on Wednesday during
3. % Tajik President's visit to Islamabad.

4. # Pakistan's decision to sell arms to Tajikistan

Question Number : 62 Question Id : 2752288346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

When the peak is declining, we should not suddenly got back to the same behaviour before the third wave.
Options :

1. * same behaviour before the third wave.

2. % we should not suddenly got back to

3. ¥ When the peak is declining

4, % No error

Question Number : 62 Question Id : 2752288346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

When the peak is declining, we should not suddenly got back to the same behaviour before the third wave.
Options :

1. ¥ same behaviour before the third wave.

2. ¥ we should not suddenly got back to

3. ¥ When the peak is declining

4. % No error

Question Number : 63 Question Id : 2752288347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No



substitution required’.

He then went home, had dinner and rest his legs after an exhausting walk to church.
Options :

1. # resting his legs

2. # had rested his legs

3. ¥ rested his legs

4. ¥ No substitution required

Question Number : 63 Question Id : 2752288347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

He then went home, had dinner and rest his legs after an exhausting walk to church.
Options :

1. % resting his legs

2. # had rested his legs

3. ¥ rested his legs

4. % No substitution required

Question Number : 64 Question Id : 2752288348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

If this post helps even one potential graduate student, it will be worth it.

Options :

1. # it would be worthy it.

2. # its will be worthy of it.
3. # they will be worthy of it.
4. ¥ No substitution required



Question Number : 64 Question Id : 2752288348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

If this post helps even one potential graduate student, it will be worth it.

Options :

1. # it would be worthy it.

2. # its will be worthy of it.
3. % they will be worthy of it.
4. ¥ No substitution required

Question Number : 65 Question Id : 2752288349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct word in the blank from the given options.

Radio and satellite phones easy communication with the outside world.
Options :

1. ¥ allow

2. % allows

3. % allowed

4. % allowing

Question Number : 65 Question Id : 2752288349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct word in the blank from the given options.

Radio and satellite phones easy communication with the outside world.
Options :



1. ¥ allow
2. % allows
3. # allowed

4. * allowing

Question Number : 66 Question Id : 2752288350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct word in the blank from the given options.

An argument is a form of reasoning whereby gives a reason or reasons in support of some claim.
Options :

1. * he

2. # she

3. % it

4. ¥ one

Question Number : 66 Question Id : 2752288350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct word in the blank from the given options.

An argument is a form of reasoning whereby gives a reason or reasons in support of some claim.
Options :

1. % he

2. % she

3. % it

4. ¥ one

Question Number : 67 Question Id : 2752288351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question given below, a sentence is given with two blanks. Choose the correct combination of words that fit into the



corresponding blanks.

In all government offices in Delhi, 100 percent of Group A officers will have work while those junior to them will work a
capacity of 50 percent.

Options :

1. % on;in
2. # of ; with
3. ¥ to; at

4. % at;to

Question Number : 67 Question Id : 2752288351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question given below, a sentence is given with two blanks. Choose the correct combination of words that fit into the
corresponding blanks.

In all government offices in Delhi, 100 percent of Group A officers will have work while those junior to them will work a
capacity of 50 percent.

Options :

1. ®* on;in
2. % of ; with
3. ¥ to; at

4. % at: to

Question Number : 68 Question Id : 2752288352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question given below, a sentence is given with two blanks. Choose the correct combination of words that fit into the
corresponding blanks.

Construction work and factories the first two sectors to be exempted the lockdown and resumed operations from May 31.
Options :
1. ¥ were ; from

2. % was ; from



3. ® was ; out of

4. ® were ; off

Question Number : 68 Question Id : 2752288352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question given below, a sentence is given with two blanks. Choose the correct combination of words that fit into the
corresponding blanks.

Construction work and factories the first two sectors to be exempted the lockdown and resumed operations from May 31.
Options :

1. ¥ were, from

2. % was, from

3. % was, out of

4. ® were, off

Question Number : 69 Question Id : 2752288353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four alternatives, select the word similar in meaning to the word given.

KEEN
Options :

1. # disgusted
2. # irritable
3. % subtle

4. ¥ eager

Question Number : 69 Question Id : 2752288353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four alternatives, select the word similar in meaning to the word given.



KEEN
Options :

1. % disgusted
2. # irritable
3. # subtle

4. ¥ eager

Question Number : 70 Question Id : 2752288354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following questions, choose the word opposite in meaning to the given word.

Merry
Options :

1. # cheerful
2. % glum

3. % lofty

4. % ample

Question Number : 70 Question Id : 2752288354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following questions, choose the word opposite in meaning to the given word.

Merry
Options :

1. # cheerful
2. ¥ glum

3. % lofty

4. % ample

Question Number : 71 Question Id : 2752288355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In each of the following questions, out of the four alternatives, select the word opposite in meaning to the word given.

Efface
Options :

1. ¥ Preserve
2. ¥ Ruminate
3. % Dissolve

4. ® Reprimand

Question Number : 71 Question Id : 2752288355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In each of the following questions, out of the four alternatives, select the word opposite in meaning to the word given.

Efface
Options :

1. ¥ Preserve
2. % Ruminate
3. % Dissolve

4. ¥ Reprimand

Question Number : 72 Question Id : 2752288356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the four alternatives, choose the one which is opposite in meaning to the given word.

COMPULSORY
Options :

1. # Alternative
2. % Selectable

3. ¥ Voluntary

4. % Choice



Question Number : 72 Question Id : 2752288356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the four alternatives, choose the one which is opposite in meaning to the given word.

COMPULSORY
Options :

1. # Alternative
2. # Selectable

3. % Voluntary

4. # Choice

Question Number : 73 Question Id : 2752288357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.
Options :

1. ¥ Particular

2. ® Preceeding

3. #¥ Pronounciation

4. ¥ priviledge

Question Number : 73 Question Id : 2752288357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.
Options :

1. ¥ Particular

2. # Preceeding

3. ® Pronounciation

4. ¥ priviledge



Question Number : 74 Question Id : 2752288358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.
Options :

1. ¥ Salry

2. % Apology

3. % Accordion

4. % Axle

Question Number : 74 Question Id : 2752288358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.
Options :

1. ¢ Salry

2. % Apology

3. % Accordion

4. # Axle

Question Number : 75 Question Id : 2752288359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the given four options choose one to join the two sentences given below to make a meaningful sentence.

He hated being in the army.
He had to obey commands.

Options :

1. ¥ Because
2. % But

3. % And

4. % Or



Question Number : 75 Question Id : 2752288359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the given four options choose one to join the two sentences given below to make a meaningful sentence.

He hated being in the army.
He had to obey commands.

Options :

1. ¥ Because

2. % But

3. % And

4. % Or

Sub-Section Number : 2
Sub-Section Id : 275228543
Question Shuffling Allowed : Yes

Question Id : 2752288360 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Ever since Australia and England played the first ever Test at Melbourne in March 1877, cricket’s longest format has constantly evolved.
Timeless Tests were dispensed with and rest days within a game were discarded while faster siblings One Day Internationals and Twenty20s
emerged. As the abridged variants attracted fans and commerce, Tests of recent vintage also embraced the day-and-night spectacle. Through
these changes, nations have tested themselves in bilateral series with the Ashes and India-Pakistan clashes having stronger brand equity. Yet,
there was a demand for context, a yearning that these languid affairs with breaks for lunch and tea over five days coalesce into something more
significant. Limited-overs’ cricket had World Cups but in Tests, it was all about annual rankings.

The International Cricket Council (ICC) stepped in to plug this gap with the World Test Championship (WTC) and the inaugural final will feature
India and New Zealand, the leading two teams based on points garnered since 2019. The summit clash commencing at Southampton’s Ageas
Bowl, presents an opportunity for both India and New Zealand to gain some ICC silverware that is missing in their trophy cabinets. The
respective countries have suffered a title drought with New Zealand winning the ICC Knockout tournament, as the Champions Trophy was
known then, back in 2000 while India claimed the ICC Champions Trophy in 2013.

Previously, Virat Kohli’s and Kane Williamson’s men had riveting jousts though it was the New Zealanders who mostly emerged on top. India



lost the 2019 World Cup semi-final at Manchester and last year in New Zealand, won the T20Is and then succumbed in the ODIs and Tests. A
neutral venue can negate home-advantage but New Zealand may feel more comfortable while taking into account the playing surface and the
prevailing weather. However, India has the confidence gleaned from winning in Australia while also getting the better of England when Joe
Root’s men came visiting. Meanwhile, true to its giant-slayer tag, New Zealand edged past England with a 1-0 verdict in the two-Test series over
the last fortnight.

Sub questions

Question Number : 76 Question Id : 2752288361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The summit clash commencing at Southampton’s Ageas Bowl, presents an opportunity for which two countries?
Options :

1. ¥ India and New Zealand

2. # Australia and England

3. ¥ New Zealand and England

4. % India and Pakistan

Question Number : 77 Question Id : 2752288362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, India lost the 2019 World Cup semi-final at-
Options :

1. ¥ Melbourne

2. # Sydney

3. % Manchester

4. % Wales

Question Number : 78 Question Id : 2752288363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, Timeless Tests were dispensed with and rest days within a game were discarded because of-
Options :

1. # Continuous IPL Seasons

2. % One Day Internationals



3. % Only because of the emerging Twenty20s
4. ¥ Both One Day Internationals and Twenty20s

Question Number : 79 Question Id : 2752288364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘Coalesce’ mean in the given passage?
Options :

1. ¥ Merge

2. # Possess

3. % Getrid of

4. % Discern

Question Number : 80 Question Id : 2752288365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first ever Test-Match was played between which two countries?
Options :

1. # Australia and Ireland

2. ¥ England and Australia

3. % Ireland and England

4. ¥ New Zealand and England

Question Id : 2752288360 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Ever since Australia and England played the first ever Test at Melbourne in March 1877, cricket’s longest format has constantly evolved.
Timeless Tests were dispensed with and rest days within a game were discarded while faster siblings One Day Internationals and Twenty20s
emerged. As the abridged variants attracted fans and commerce, Tests of recent vintage also embraced the day-and-night spectacle. Through
these changes, nations have tested themselves in bilateral series with the Ashes and India-Pakistan clashes having stronger brand equity. Yet,
there was a demand for context, a yearning that these languid affairs with breaks for lunch and tea over five days coalesce into something more
significant. Limited-overs’ cricket had World Cups but in Tests, it was all about annual rankings.



The International Cricket Council (ICC) stepped in to plug this gap with the World Test Championship (WTC) and the inaugural final will feature
India and New Zealand, the leading two teams based on points garnered since 2019. The summit clash commencing at Southampton’s Ageas
Bowl, presents an opportunity for both India and New Zealand to gain some ICC silverware that is missing in their trophy cabinets. The
respective countries have suffered a title drought with New Zealand winning the ICC Knockout tournament, as the Champions Trophy was
known then, back in 2000 while India claimed the ICC Champions Trophy in 2013.

Previously, Virat Kohli’s and Kane Williamson’s men had riveting jousts though it was the New Zealanders who mostly emerged on top. India
lost the 2019 World Cup semi-final at Manchester and last year in New Zealand, won the T20Is and then succumbed in the ODIs and Tests. A
neutral venue can negate home-advantage but New Zealand may feel more comfortable while taking into account the playing surface and the
prevailing weather. However, India has the confidence gleaned from winning in Australia while also getting the better of England when Joe
Root’s men came visiting. Meanwhile, true to its giant-slayer tag, New Zealand edged past England with a 1-0 verdict in the two-Test series over
the last fortnight.

Sub questions

Question Number : 76 Question Id : 2752288361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The summit clash commencing at Southampton’s Ageas Bowl, presents an opportunity for which two countries?
Options :

1. ¥ India and New Zealand

2. # Australia and England

3. ¥ New Zealand and England

4. % India and Pakistan

Question Number : 77 Question Id : 2752288362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, India lost the 2019 World Cup semi-final at:
Options :

1. ¥ Melbourne

2. # Sydney

3. % Manchester

4. % Wales



Question Number : 78 Question Id : 2752288363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, Timeless Tests were dispensed with and rest days within a game were discarded because of:
Options :

1. # Continuous IPL Seasons

2. % One Day Internationals

3. # Only because of the emerging Twenty20s

4. ¥ Both One Day Internationals and Twenty20s

Question Number : 79 Question Id : 2752288364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘Coalesce’ mean in the given passage?
Options :

1. ¥ Merge

2. # Possess

3. % Getrid of

4. % Discern

Question Number : 80 Question Id : 2752288365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first ever Test-Match was played between which two countries?
Options :

1. # Australia and Ireland

2. ¥ England and Australia

3. # Ireland and England

4. % New Zealand and England
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Question Number : 81 Question Id : 2752288366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FfaRad o ¥ b=l § SH-H i g2
Options :

1. % gul &R iy

2. ¢ g TR Y

3. % i WR IR



4. ® o 9y

Question Number : 81 Question Id : 2752288366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FfaRad o ¥ reidead § SH-Ht 9fY g2
Options :

1. % ol TR G

2. ¢ gfg TR Y

3. % Y WR IR

4. % o HiY

Question Number : 82 Question Id : 2752288367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafad ¥ ¥ dH g &1 9949 BIfoTe-
Options :

1. ¢ gk

2. #® ChYd

3. % o[dlq

4. % dadh]

Question Number : 82 Question Id : 2752288367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRed ¥ ¥ dH eg &1 I94 PIToTe-
Options :

1. ¢ R

2. ® ChYId

3. % 94

4, % dah]




Question Number : 83 Question Id : 2752288368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ao 7 Q S19-91 Isg IuTf o1 T SR ST T 82
Options :

1. * hddl

2. ® feRTAM

3. ¢ 3T

4. % 4l

Question Number : 83 Question Id : 2752288368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & & H-91 XTeg SUIHT BT YANT B ST T 62
Options :

1. % Jhddl

2. % M

3. ¢ 3T

4, % G4l

Question Number : 84 Question Id : 2752288369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ SIH-91 Weg HTaaTEe T HT ISTER0T el 372
Options :

1. % gqiad

2. % el

3. % AHUAMU4

4. ¢ GRAR



Question Number : 84 Question Id : 2752288369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARG T ¥ H-31 X6 HTaaTad W31l BT 3GIex 1ol 62
Options :

1. % gq1ad

2. % gexdl

3. % 3UAY—q

4. ¢ URAR

Question Number : 85 Question Id : 2752288370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fafad § O HeaR &1 aiaar) ¥sg HIH-91 82
Options :

1. % QT

2. % GRUY

3. ¢ Ul

4. % gIaT

Question Number : 85 Question Id : 2752288370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfafed & 9 "R &1 yaigdr s HH-91 2
Options :

1. % QT

2. % YRUY

3. ¥ Ul

4. % g

Question Number : 86 Question Id : 2752288371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAfIRId & ¥ g Wsg DT 9 DifoTd-
Options :

1. % YUETDH

2. TR

3. % UM

4. % e

Question Number : 86 Question Id : 2752288371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fArfeRad 4 9 g g &1 99 HifoL-
Options :

1. % YYD

2. « TRf¥erdn

3. % USCHNT

4. % desT

Question Number : 87 Question Id : 2752288372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freffed # & Ry &1 fadm T SH-a1 32
Options :

1. % diuig

2. % SAIg®

3. % fersitdt

4, « 3{cUlg

Question Number : 87 Question Id : 2752288372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frefafad & @ RRY &1 v Tsg SH-a18?
Options :

1. % diuig

2. % SAIg®

3. % fersitdt

4, « 3{cUlg

Question Number : 88 Question Id : 2752288373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ aTerRieT o foTT Ueh Req T =T HITTT-

1 T I D1 TR 31T F FHTSTT HRAl-
Options :

1. # YRARA

2. % Qg

3. ¢ TRAIHRUI

4. ® Yg[4

Question Number : 88 Question Id : 2752288373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T aTeRIT=T & foTT Ueh Xsg b1 T HIToTL-

T T IS B IR TS F ST DHRAT-
Options :

1. # YRERA

2. % g

3. ¥ TRAIBRUI

4. # YgIHd




Question Number : 89 Question Id : 2752288374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafRad 7 9 foar mar 9 fog o1d &1 e g?
e/ A 35 B ups fern gl

Options :

1. % 3doqdg Hid=dhTd
2. ¥ gdeqg YaoId

3. % iy qdHH Brd
4. ¥ 3G~ HYbTd

Question Number : 89 Question Id : 2752288374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfafaa & T fear m a1 e &1d &1 3SR 82
e/ 3 39 &) ups e gl

Options :

1. % gdeqdg HidZ®Td
2. % BJoqHg HdbId

3. % Wiy adqH Brd
4. ¢ TG YdBbTd

Question Number : 90 Question Id : 2752288375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefeRad # 9 Tifeln Wree &1 99 HifeTe-
Options :

1. ¢ Sfrfa

2. % Pletol



3. % 3fYaR=
4. % R

Question Number : 90 Question Id : 2752288375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefifad 3 3 Wi s o1 9 SR
Options :

1. ¢ Sifd

2. % Dlctol

3. % 3ffYazH

4. % UM

Question Number : 91 Question Id : 2752288376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefeiRed & 9 Ggad a1y o1 9 Bifeie-
Options :

1. % T3 98 T a3 g ot Al T3 2|
2. ¢ U 9HY 9E] § SHAY Bic ugH all
3. % UM IR R &1 TS SE|

4. % 3 YE & RITHG H BIs 81 5

Question Number : 91 Question Id : 2752288376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feferfed # @ dgad are &1 99 Hife-
Options :

1. % T3 98 TI® 7d T3 ¢ ot |l T3 2|
2. ¥ 3T qHT ISl § AN DI Ug il
3. % UM A 991 IR &1 IS S|




4. % Y UG & fFRIYTHTI H PIs ol ol

Question Number : 92 Question Id : 2752288377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTfeTRad & U 91 & YR b1 TG DIfoIT-

AR I IRT BTl 51 el T
Options :

1. ¢ HHAA

2. % Hgard

3. % YIgareg

4. ® 3HHaATT

Question Number : 92 Question Id : 2752288377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR & | 91 & UDHR BT I DITOTL-

AR T IRT HIel o XgT 4T
Options :

1. ¢ HHATH

2. ® FHgard

3. % YgarA

4. ® 3fHHATT

Question Number : 93 Question Id : 2752288378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffoied & 9 gerarT "t § Wt WaHT &1 o g2
Options :

1. % 3HH I YMUR HRAT|



2.+ GREAT T 3= el
3. % Hfeardl gl
4. % YOI WIHR B

Question Number : 93 Question Id : 2752288378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRad o § gemavT "&iet § BT Qe &1 a1 31 g2
Options :

1. % 3{TH DT ATUR PRI

2. ¢ EREAT H < el

3. % wfeardl g

4. % RIS WIDHR HAT

Question Number : 94 Question Id : 2752288379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrfaRed o O deifad "t g -, St gt wR =, St ag oft T o s g
Options :

1. % 3 B B Hd ST Td R P B Hd 7|

2. % O§ BT HIAT G 7, 3 arelt Bfgal I 78t g anfgul
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Question Number : 96 Question Id : 2752288382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Correct Marks : 1 Wrong Marks : 0.25
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 113 Question Id : 2752288399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228547
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 2752288407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 121 Question Id : 2752288407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 122 Question Id : 2752288408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 122 Question Id : 2752288408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 123 Question Id : 2752288409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 123 Question Id : 2752288409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 124 Question Id : 2752288410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 124 Question Id : 2752288410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 125 Question Id : 2752288411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 125 Question Id : 2752288411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 126 Question Id : 2752288412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 126 Question Id : 2752288412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 127 Question Id : 2752288413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 127 Question Id : 2752288413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 128 Question Id : 2752288414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 128 Question Id : 2752288414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 129 Question Id : 2752288415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 129 Question Id : 2752288415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 130 Question Id : 2752288416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 130 Question Id : 2752288416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 131 Question Id : 2752288417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 131 Question Id : 2752288417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 132 Question Id : 2752288418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 132 Question Id : 2752288418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 133 Question Id : 2752288419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 133 Question Id : 2752288419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 134 Question Id : 2752288420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 134 Question Id : 2752288420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 135 Question Id : 2752288421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 135 Question Id : 2752288421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 136 Question Id : 2752288422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 136 Question Id : 2752288422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 137 Question Id : 2752288423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 137 Question Id : 2752288423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 138 Question Id : 2752288424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 138 Question Id : 2752288424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 139 Question Id : 2752288425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 139 Question Id : 2752288425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 140 Question Id : 2752288426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 140 Question Id : 2752288426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Discipline3
Group Number : 8
Group Id : 275228332



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 275228459

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228548

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 2752288427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 141 Question Id : 2752288427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 142 Question Id : 2752288428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 142 Question Id : 2752288428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 143 Question Id : 2752288429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 143 Question Id : 2752288429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 144 Question Id : 2752288430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 144 Question Id : 2752288430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 145 Question Id : 2752288431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 145 Question Id : 2752288431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 146 Question Id : 2752288432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 146 Question Id : 2752288432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 147 Question Id : 2752288433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 147 Question Id : 2752288433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 148 Question Id : 2752288434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 148 Question Id : 2752288434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 149 Question Id : 2752288435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 149 Question Id : 2752288435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 150 Question Id : 2752288436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 150 Question Id : 2752288436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 151 Question Id : 2752288437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 151 Question Id : 2752288437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 152 Question Id : 2752288438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 152 Question Id : 2752288438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 153 Question Id : 2752288439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 153 Question Id : 2752288439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 154 Question Id : 2752288440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 154 Question Id : 2752288440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 155 Question Id : 2752288441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 155 Question Id : 2752288441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 156 Question Id : 2752288442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 156 Question Id : 2752288442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 157 Question Id : 2752288443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 157 Question Id : 2752288443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
*His dramatic work is the vehicle of ideas rather than the expression of action {\!}Tﬁ NIGIE, TERATE ABIE

(5T I {TRME A=) — (A VOV THE G TGSTG BRI J2 FASH g
Options :
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Question Number : 158 Question Id : 2752288444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 158 Question Id : 2752288444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 159 Question Id : 2752288445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 159 Question Id : 2752288445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 160 Question Id : 2752288446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 160 Question Id : 2752288446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 161 Question Id : 2752288447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 161 Question Id : 2752288447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 162 Question Id : 2752288448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 162 Question Id : 2752288448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 163 Question Id : 2752288449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 163 Question Id : 2752288449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 164 Question Id : 2752288450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 164 Question Id : 2752288450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 165 Question Id : 2752288451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 165 Question Id : 2752288451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 166 Question Id : 2752288452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 166 Question Id : 2752288452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 167 Question Id : 2752288453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 167 Question Id : 2752288453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 168 Question Id : 2752288454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 168 Question Id : 2752288454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 169 Question Id : 2752288455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 169 Question Id : 2752288455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 170 Question Id : 2752288456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 170 Question Id : 2752288456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 171 Question Id : 2752288457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 171 Question Id : 2752288457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 172 Question Id : 2752288458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 172 Question Id : 2752288458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 173 Question Id : 2752288459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 173 Question Id : 2752288459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 174 Question Id : 2752288460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O (B PIHF & *M= TN (GElF (EF = AN G RN FEA?
Options :
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Question Number : 174 Question Id : 2752288460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O (B0 PIFA & *M= TN (GElF (EF = 0N GrolaRA FAN?
Options :
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Question Number : 175 Question Id : 2752288461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 175 Question Id : 2752288461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 176 Question Id : 2752288462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 176 Question Id : 2752288462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| ow AN

x4 %\3 3]




.

4 % 5

Question Number : 177 Question Id : 2752288463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 177 Question Id : 2752288463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HiFPPon FIG 0 W0 [Foe?
Options :
% 30

Y



3 % 9

4.4 9

Question Number : 178 Question Id : 2752288464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| % PR

) ® H \!}ﬁi%x! qid

s v (OOl AR

4. ® mﬁ‘l?ﬂﬁ

Question Number : 178 Question Id : 2752288464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 179 Question Id : 2752288465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 179 Question Id : 2752288465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 180 Question Id : 2752288466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 180 Question Id : 2752288466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Discipline5

Group Number : 10

Group Id : 275228334

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 10

Is this Group for Examiner? : No
Discipline5

Section Id : 275228461

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228550

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 2752288467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g1 PIs=PTN WINE AT Yeis %0 RO N SE @747
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Question Number : 181 Question Id : 2752288467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 182 Question Id : 2752288468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 182 Question Id : 2752288468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 183 Question Id : 2752288469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 183 Question Id : 2752288469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JISET ST STITRCOTA FIS1 I o1 = [WHE140 (FH ATGFE 2O 4a?
Options :
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Question Number : 184 Question Id : 2752288470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 184 Question Id : 2752288470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 185 Question Id : 2752288471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 185 Question Id : 2752288471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 186 Question Id : 2752288472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 186 Question Id : 2752288472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 187 Question Id : 2752288473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 187 Question Id : 2752288473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 188 Question Id : 2752288474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 188 Question Id : 2752288474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 189 Question Id : 2752288475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 189 Question Id : 2752288475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 190 Question Id : 2752288476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 HIRCSY (ROIMH ORI A1 2 I HEFF (FIN ARSI THNF WEICN?

Options :

| ANPWIEER el

s x A

4 v CART A8

Question Number : 190 Question Id : 2752288476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 HIRCSY (ROMHE ORI o1 2 IAH 1Y HFEH (FIN ARSI THAF WKICN?

Options :

| % ANPIRER W@

2;33‘-@@



, » ADG

4 v AT AISAT
Teaching Methodology

Group Number : 11

Group Id : 275228335

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 10

Is this Group for Examiner? : No
Teaching Methodology

Section Id : 275228462

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228551

Question Shuffling Allowed : Yes



Question Number : 191 Question Id : 2752288477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a characteristic of learning process?
Options :

1. # Tt is a continuous process

2. ¥ 1t is not transferable

3. % Ttis an active process

4. % Ttis goal directed

Question Number : 191 Question Id : 2752288477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 192 Question Id : 2752288478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following types of behaviours are observed among children?

1. Elicited behaviour
2. Emitted behaviour

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. #® Neither 1 nor 2



Question Number : 192 Question Id : 2752288478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 193 Question Id : 2752288479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of formative assessment?
Options :

1. ¥ Grades are the basis for determining the readiness of the student
2. % Tt can be flexible as per the needs of the students

3. # It is process-oriented

4. ® Tt is used to determine how much the students have learned and what they still have to learn

Question Number : 193 Question Id : 2752288479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 194 Question Id : 2752288480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full-form of CCE?

Options :

1. ¥ Complete and Comprehensive Evaluation
2. % Complete and Comprehensive Education

3. % Continuous and Comprehensive Evaluation

4. ® Continuous and Comprehensive Education

Question Number : 194 Question Id : 2752288480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 195 Question Id : 2752288481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which internal factors within the individual influence growth and development?

1. Heredity factors
2. Biological or constitutional factors
3. Intelligence

Options :
1. % Only 1 and 2



2. % Only2and 3
3. % Only 1 and 3
4.4 1,2 and 3

Question Number : 195 Question Id : 2752288481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 196 Question Id : 2752288482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the age-range of adolescence?
Options :

1. % 10-15 years

2. % 11-16 years

3. % 12-19 years

4. % 13-20 years

Question Number : 196 Question Id : 2752288482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 197 Question Id : 2752288483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an example of gender-discrimination by a teacher?

Options :

1. # The teacher picks a boy as the class leader, thinking a boy should be able to be stricter than a girl
2. # The teacher asks only girls for knowing who would be interested in a culinary-arts camp

3. ¥ The teacher keeps same levels of punishment for both girls and boys in his/her class

4. ® The teacher scolds boys more and goes easy on girls, keeping in mind that girls are more sensitive than boys

Question Number : 197 Question Id : 2752288483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 198 Question Id : 2752288484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a feature of gender and not sex?
Options :



1. ® It depends on biological construct
2. % It changes from time-to-time and from culture-to-culture
3. # It is non-hierarchical

4. ® Tt is nature made

Question Number : 198 Question Id : 2752288484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 199 Question Id : 2752288485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has said that Cooperative Learning is ‘Concepts and techniques for enhancing the value of group activities’?
Options :

1. ¥ G. Jacobs

2. % J. Bernard

3. % C. Carlton

4. % S. Thurman

Question Number : 199 Question Id : 2752288485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 200 Question Id : 2752288486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Priya enjoys pulling Swathi’s hair as Swathi is very timid and does not complain to the teacher. Which of the following simple classroom
management technique should a teacher employ to handle this without wasting the time of the class?

1. The teacher should give a lecture to Priya in the class about why girls’ hairs should not be pulled.
2. The teacher should change the seat of either Priya or Swathi, to separate them.

Options :

1. % Only 1

2. Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 200 Question Id : 2752288486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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